94548

B.A. (Pass Course) 6th Semester New Scheme
~ w.ef. 2018-19
Examination, July-2022
TECHNICAL AND PRACTICAL ASPECTS OF
MUSIC-1I
Music Instrumental

Time allowed : 3 hours] [Maximum marks : 40

Note : Attempt any five questions in all selecting at least
one question from each section. Question No. 1 is

compulsory.

e @ue L, 10, 111 7 § 37 8 39 OF 597 71 g7 g7 F 9
79 %% | Y&l F¥7 S &1

1. Answer the following: | 8
P @ SoR ARTT
(i) Write the Vadi-Samvadi of Raga Multani.
1 el 7 AT R |
« (i) How many string in Sitar?
Ryt & Rt iy B &7

(iii) How many Matras, Tali and Khali in Keherva
Tala.

FEeal i § Rael gEN @ Al @ @l el 87

94548-P-3-Q-8 (22) [P.T.O.



(2) 94548

(iv) What is the Samprakriti Raga of Rageshwari
Raga.

T T F THRT T DA 2|
(v) Write Aroh-Avroh of Raga Puria Dhanashree
0T g S & AE-sEdE R | |

(vi) Name the Tala having 12 Matras.
12 st artt o & W S |

(vii) Name the Gharana of Lal Mani Mishra.
wrerrer B %1 9O 94 | )
(viii) What is the sign of Mandra and Taar Saptak Swar?
TE 7 R A9 B @ B T TEaH 87

Section-A
qus-H
Write the four Sargam of Raga Multani. 8
T geart § 9) 7w o
Write down the notation of any Raga Rajakhani Gat
with two toras. ) 8
Rl ot T A e T D A s g
Section-B
qusq
Write Ekgun and Dugun, Tigun of Teentala. 8

divara & T, $97 @ R R

94548

(3) 94548

Define detail description of Sarod. 8
gle e & faega e dfa )

Write detail description of Raga Rageshwari. -
T Wheadt F e aie R

Section-C
qus-q

Write the development of Indian classical Music During
Medieval Period. 8

qoEE B g9 ¥ e w3 R @ e ¥ Rraw /@
isicq

How music play an important role in International
Cultural Exchange ? ' 8

SRl R e A a3 s e Fr

T 27

94548



(4) 94411

) Unit-1V

’ -1V
8.  Write a critical note on the working and achievements
of world bank with special reference to less developed

countries. 16
Emﬁaaf%m%aﬁ% PRy et ¥ fvg ¥% 9 et
TR T YRRl U ST e R |

9. Critically examine the relevance of WTO for Indian
Economy. 16
mﬁamw%mﬁsawwmﬁmﬁrm
N SAATD T FHifra |

94411

94411

B. A. 6th Semester (Pass Course) New Scheme
Examination, July-2022

- ECONOMICS
International Economics
Time allowed : 3 hours] [Maximum marks : 80

Note: Attempt five questions in all, selecting one question
Jrom each unit . Question No. 1 is compulsory. All
questions carry equal marks.

A g% S @ OF T g9 g, 7 U g 3
T & | 797 Tear- 1 fvart &1 et gt 3 o
T &1

1.  Explain the following in brief; 8x2=16
Fifiee = g8 § e 5t
(i) Physxcal criterion of factor Abundance
Y SR RS A9evs
(i) Devaluation
REF S
(iif) Dumping
RUBLEIRE

(iv) What is meant by volume of trade ?

NN & R § w1 iy & ?

94411-P-4-Q-9 (22) | [PTO.



(2) 94411
(v) What is foreign trade multiplier ?
foRet @amR o F4r ® 7
(vi) Invisible items
G T
(vii)) What is the difference between balance of trade
and balance of payment ?
IR HGH A I SFa o a4 o7 2 ?
(viii) Explain the two objectives of SAARC.
W 3 A Redt A awen Hw

Unit-I

w1
2. Critically examine the comparative cost theory of
international trade. ) 16

TS ANR B qEAs i 7
IS Tt Hig | |

3. Examine modern theory of international trade. 16
SIS YR & Ny R &1 whaer #ifm |
94411

(3) 94411
Unit-11

SHE-11

What is protection ? Explain various methods of

protection. Which method of protection is best ? 16

- HET A R ? e R ARG @ aren 5t

W@ B Bl wed ol R 2

What is exchange control ? Describe its main
objectives. : 16

R Fre=er 7= % ? 5@ e Rl F vl a3

What are the present direction, composition and volume
of Foreign Trade in India ? ' 16

Wwa A R @R # adum R, dvEer aqur
qReToT 7 § 7

Define foreign trade multiplier, Explain : 27,7
(i) Effect of increase in exports on Income

(ii) Effect of increase in imports on Income

FRsll @R o @ aRem 31 sren #¥
() FE & afs &1 o 91 y9E
(i) oMWt F g #1 omg 9T guE

94411 [ETO.
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Write an RTI application to get information about how

many female students got admission in a col legein 2018

and how many of them graduated in 2021, 10
or

Write a letter to the Editor of a leading daily to draw
attention of the authorities and public to the problem of
drug addiction among the youth today.

Read the passage given below and answer the questions
that follow : : 10

Once a crow was very thirsty. He flew into a village
in search of water. After a long time, he saw a pitche. of
water under a tree. He was very happy. But he found that
the water level in the pitcher was very low. His beak could
not reach the water. The crow was not disappointed. He
looked around and thought, "What else can I do 2" He
saw that there were a lot of pebbles on the farm. And, he
had an idea ! He collected a pebble and put it into the
pitcher. He collected another pebble and another and put
them all in the pitcher. As he added more and more
stones, the water level came up to the brim. He drank
the water and flew away. Where there is a will, there isa
way.

(i) What did the crow see in the village ?

(ii) Where did it find the pitcher ?

(iii) How did the crow manage to drink water ?
(iv) What is the moral of this story ?

(v) Use the words 'Brim' and 'will' in your own
sentences.

]

/

94488

94488

B.A. 6th Semester (Pass Course)
New Scheme Examination, July—2022
ENGLISH
(Compulsory)
Time allowed : 3 hours] [Maximum marks : 80

Note: Attempt all questions. All questions carry equal

marks.
1. Explain the following passage with reference to the
context : 8

(a) You must take your chance;
And either not attempt to choose at all,
Or swear before you choose, if you choose wrong,
Never to speak to lady afterward
In way of marriage : therefore be advised.
or
But mercy is above this sceptered sway ;
It is enthroned in the hearts of kings,
It is an attribute to God himself ;
And earthly power both then show likest God's
When mercy seasons justice.
(b) Answer any five questions out of eight given below

) in about 50 words each : 5x3=15
(i) What is Portia's father's will about her
marriage ?

(ii) Whois Lorenzo ?

(11i)) Why does Bassanio need money from
Antonio ?

(iv) What judgement does Portia pronounce ?

94488-P-4-Q-5 (22) [P.T.O.




(2) 94488

(v) Whois old Gobbo ?

(vi) Which casket does prince of Morocco
choose ?

(vii) What happens to Shylock in the end ?
(viii) What disguise does Nerissa acquire ?

2.  Discuss Merchant of Venice as a tragicomedy. 12

or

Who is the hero of 'The Merchant of Venice' ?
Discuss.

3. Doasdirected : , _
(a) Precis the below given passage and provide a

94488

suitable title ; 10

Games give us not only physical exercise, but
mental training also. They train both our body and
mind. A player has to follow the rules of the game.

In the field, he acts like a disciplined soldier. This

sense of discipline becomes a part of his
character. He develops respect for laws and rules.
Thus games help in making a man a good citizen.
Games give us pluck and courage. They make us

bold and confident. They enable us to fight with a ,
team spirit. A player learns to work in co-operatio. )

with his fellow beings. Games develop sportsman
spirit. It means that a player has no bitterness in
his heart. He plays the game only for the joy of it.
An opponent is not an enemy to him. Games
develop the quality of leadership also. In short we
can say that games are as important as the study
of any other subject.

)

(b)

(c)

194488

(3) 94488

Write down the summary/abstract of the below
given passage : 10

Honesty is a habit developed from childhoed. It
is generated by the example and demonstration not
by mere preaching. We all know that honesty pays
in the long run but how ? The answer is simple that
it is a habit. In all our honest dealings we don't
oblige the receiver but ourselves; we train
ourselves in good and earn a reputation of a good
person which can help us in our crisis. On the other
hand, a dishonest person cannot flourish his
dishonesty for a long time, at the end of the day.
the world knows about his evil design and doubts
his intentions, he loses his credit and reputation;
even his some of good deeds are suspected and
scanned. He has to hide his face and he fails to
socialize. So honesty in fact, is a service to man
and mankind. It is the best gift a person can bestow
on him.

Give one-word substitute of any five of the
following : O

(i) A word no longer in use.

(ii) One who easily believes what others say.
(iii) The state of being unmarried.

(iv) Something that easily catches fire.

(v) Sound that can be heard easily.

(vi) One who is averse to mixing in society.

(vil) Someone who advocates the cause of
women.

(viii) One who is all powerful.

[P.T.O.



(4) "~ RE-94404
(iv) sREmd & #= enem & 7
(v) efaor i B diferai & ?
(vi) Tieg &1 B Aise ®&noar ?
(vii) ‘TR AE Fa F dEE B B 7
(vﬁi)‘mﬁ’ﬁ;ammﬁw%?

~ RE-94404

RE-94404

B.A. 6th Semester (Pass Course) New Scheme
Examination, July-2022
 HINDI (Compulsory)
Time allowed : 3 hours] [Maximum marks : 80

wit & g 3 @ e el 78 ghRed 7T 7
7%l QU ©q §&l 997 G R A & 1 9den ® 3 g9
5 F5 off Rrera 7 gt o |

Aie : FEMFEr g A & g A
1. frefafea 3 & B @ & aem awen $if ¢
: 2%6=12
(%) omem @ g g HOR F@a 81 0 B AT Y, B
H &2 q, T B w7 Y, G B e F, g6
TER 8% RRE T6Y A 0 R o @Y
gl 8 &1 aem 2t |
(@) T oresr o R A ol AW A &, g O B
o o A R &AW o ) e @ gae
QUET S 2906 &l | 391 F1 T8 qel, qar 6w
a6 i, 3T B I8 8% &, T6 BT o B

(1) Tw FH gHe IO A @ Izar B 6 W 9w 9
# FUE Iod ¢ Ol 3@ o @ e § @
o &1 RaY Y @ Je @, dieT @ 9 ol
TEY 8 I 2|

RE-94404-P-4-Q-7(22) [PT.O.




(2) RE-94404

() 3R @ 3R ¥ ok 3 R @ oA A
W 81 3 e o It gg oA fre oo g
e T agA W o B 1 B T @ ov gw
e B, 7@ A REwciy 2 |

A T TR E B Aiefas aREy i) 1x8=8

4
Srear

M B A T i RAdvad TaEd |
Bl TR g%l & I 150-200 9= # Rifo -
_ 4x4=16
(%) omart g & Frere ‘S’ @ -6 W T
SifeT | |
(@) ‘mmmﬁq’ﬁwﬁmﬁmaﬁm
() o & wEe S 3 A & aEw Q@ @
e Rar g ?
(7) HORT S a & AR W Py # wher B
(8) eReiEt wEE # Aw-9eh ) w Rl R
(7) 7B FR & e @ g 2

RE-94404

4.

5.

6.

s

(3) RE-94404
el & ueei & I i 2x8=16
(%) =Ramm F FiT-grqw O g sk
(@) eRErrr et afite & e Sk
(1) eREmdr T-ae @ oReg g
(7) eREmE w1 wE Rfva T9Ee )

el & g & 3w difm 2x5=10

)(ﬁ) eRAEr i R et @1 g o

(@) eRarm & @ # ax AT g9
() eRErE W @ fEw @ R 9 g sk
() ot Ao F1 dfre oftEg St

fodl & usl 3 FX v 2x5=10
(®) dmeF 3 P &R el & we @i
(@) = o8 wer 1 Rdvad Ta=d )

y (M) wERer & Ry @ ¥ ? @ i

(8) wrERa 3 @sy 3 qe He

fFr=foiaa geet & suy it 1x8=8
(i) SIS 9 NEWS Reuar s 2 7

(ii) ‘OO’ 9= o e # 9 | gy 2 7

(i) fHl T @ 9w & 9 FaE)

RE-94404 [P.T.O.




(4) 94410 &L 94410

(vi) Bismarck (Map of Italy & Germany)
famm® " B. A. 6th Semester (Pass Course) New Scheme
(vii) Meiji Restoration Exprpination, July-3022 |
HISTORY
Agell GF-E9A
3 History : Modern World
(viii)  First World War _ :
' Time allowed : 3 hours] [Maximum marks : 80
o fasa I |

| Note :  Attempt five questions in all, selecting one question
from each unit . Question No. 9 (Unit-V) is

compulsory. All questions carry equal marks.

e : g sHE & @ 997 g0 §Y FT GG 57
FITG | §9T T&- 9 A 81 a4t 997 1%
T &l
Unit-1
-1
1. Describe the main causes and growth of Agricultural

reuslution.

B wif & Tg@ O qd1 e & v i |

2. Discuss the reasons of growth of Capitalism in Europe.

77 & gl & I § HRON Hl fade Fifm |

94410 [Encl.: Map of Italy & Germany 94410-P-4-Q-9 (22) [P.T.O.



(2) 94410
Unit-11
-1
What were the impacts of French Revolution of France

and Europe ?
i Fifa & HiE 7 gAY T 1 996 T8 7

Trace the Rise and Growth of Liberalism in England in}
19th century.

1941 graredt § e § JERAR & I U6 AEE H
ferereT 2o |

Unit-I11

FHE-111
Discus:s the causes and events of the first opium war.

YO ST JE B HON a1 HEASH B U BT )

Describe briefly the results of the second world war.

fadra fasa g& @ aRom 1 dfrE g it |

Unit-IV

TRV

Show the stages of unification of Italy on the Map and

write an explanatory note.

94410

(3) 94410

AR TT 2o & TR 3 A awi SR A
o

On the map of Germany show the various stages of its

unification and also write an explanatory note.

T @ Y@ qERE T SH ® e & i
STgTNG ZIfEn 9T U ATEAHE fewen o o |

Unit-V
THE-V
Short Answer Type Question :
g AT U ¢
(i) - Wealth of Nations
I 3 A
(ii)) JohnKey
S @
(1ii) James Watt
o dfe

(iv) Montesquieu
(v) Mazzini

CIER]

94410 [PT.O.
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B. A. 6th Semester (Pass Course) New Scheme
Examination, July-2022

HOME SCIENCE
Child Psychology & Mother Craft
Time allowed : 3 hours] [Maximum marks : 60

Note: Attempt any five questions inall, selecting at least
one question from each unit. Question No. 1 is

compulsory. All questions carry equal marks.

de T d 7 @ o 4T g §Y g 9 9
) g7 4. 1 afard &1 @ft 957 % 6%
a7 21 '

1. Compulsory question : 6%2=12

a9 ¢

(i) Nametwo examples of mental punishment.
AR 0 & A IEET G|

(i) Who gave the concept of trial and error method of -
learning ?
S ® T o ue R @ e e
far o ?

(iii) Give examples of constructive plays.
wEE et B Iael A |

62523-P-3-Q-9 (22) [P.T.O.



(2) 62523
(iv) Define weaning.
(SERCERIET IR S
(v) Name two respiratory diseases common in

childhood. -
g & B 9l & 9 SO dedl At
F 99 SaEd |

(vi) Write two ill-effects of an early marriage.

g ¥ e & A e [ |
Unit-I
| ; -1
| 2. What do you mean by Child Psychology ? Describe its
| subject matter. 12
| mqﬁﬁmﬁmwmﬂ%?sﬁ%ﬁwﬁam
qu HX | /
3. What is Learning ? Describe factors affecting
‘ learning. 12
dem 41 B 7 dEs B geied $6 as B 6l
U HY |
62523

(3) - 62523
Unit-11
THE-11

Explain factors affecting personality development. 12

i [TBe @ T9ifad F aw B B THAE |

Describe personality types. : 12
AT & THR B IO B
Unit-III
THR-111
Describe signs of pregnancy. 12
TG % TEOH B IO B
Explain various discomforts of pregnancy. 12
THiee & fafte F e aaeel B aueEd |
Unit-IV
TRV
Explain advantages of breast feeding. 12
TIE & AW GEEa |
Write short notes on common digestive disturbances
of childhood. 12

TEET B G UEE g U 97 Gt el
ferfem |

62523
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(b)

(c)

(d)
()
()
(%)

@)

Q)

()
®)
)

94428

(8) 94428
AR gar PR & G Th F B A
I il |
Section—V
gus—vV

Define radial ve!ocity and transverse velocity of
a particle.

Find the amplitude of a S.H.M. of period 12 “gc.
which travels 15 cm in 2 seconds.

Define work. What are its units in C.G.S. and

M.K.S. system.

What is horizontal range of a projectile ?

Define Apse and Apsidal distances.

State Kepler's laws of planetary motion. :
Rl 3 ot 3 e et A 2 aRE
it |

12§ oEfy @ RN W@ omEd A A
A T T S 2 §FeSt A 15 F. Nl
HT e |

i @y aftefed S | @.5feE. a9 . 3.
g, YOI # O §HEA 8

el TR @ AR T 8 7

Y T TYSTHR Gt bl AR i |
e B TE B M B Ew S|

» Note:

94428

B.A. 6th Semester (Pass Course) New Scheme
Examination, July—2022

MATHEMATICS
Paper-BM-363
Dynamics

(Re-appear before session 2014-15 and fresh students
from session 2018-19)

r
Tinie allowed : 3 hours ] [ Maximum marks : 26

Attempt any five questions by selecting one
question from each section. Q. No. 9 (Section-V) is
car}ipulsary

e : gOF @7 @ T 597 F T4 A4 GG gﬂw
997 FIT | g7 o 9 (@E-V) AHAH

Section=I
gis—I .

1. (a) A particle moves along a circle r = 2a cos 0 in
_ such a way that its acceleration towards the origin
& is always zero. Show that the transverse

acceleration varies as the fifth power of cosec 0.

(b) A ship steams due west with a velocity of 15 km/
hr relative to the current which is flowing at the
rate of 6 km/hr dué south. What is the velocity of
a train going north at a rate of 30 km/hr relative to

the ship ?

94428 P-8-Q-9 (22) [PTO.



(%)

2. (a)

(b)

()

94428

(2) 94428

TF FO g r=2acos 0D HFIRY IH THX H
ey e & 6 gae g f6g @ ol @ ena
W@W%lﬁ@'@ﬁﬂjﬂﬁﬁﬂcosecﬂﬁ
gt g1 # &9 F qEe ¢ |

UF e ST @ AT 6 Bt Ho X A
afRroT &t O 87 grell 9T $ e 15 B/
Ho & 1 | ufte® F S T © | TN &
g 30 5. A. /do & W A IR # AN JH
e ISl H e I FM & 7

A particle moves in a straight line such that its

acceleration is always directed towards a fixed

point in the line and is proportional to the distance
of the particle from the fixed point. Discuss the
motion.

An elastic string of natural length / and modulus
of elasticity A has one end fixed at a point O on a

~ smooth horizontal table. A particle of mass m is

attached to the other end A pulled to the po. jion
B, where AB = a and then let go. Discuss the
motion.

o Fo Wil a7 39 R 4 a0 H e &
T @O g v § o ik [y @ A
Frfie 2T & o) Piea Mg a s H g &
HAIUR e 2 | i i fadEEr S

(3) 94428

(@) Tl TS [T TR A9 A % T

(b)

(%)

94428

ey 3 @ o R o R Afst 3 9
g OTX 927 2 | g8t R & m 29 & AT
JeT 81 A% fRfq B % dfen o @, Sl
AB =a T a9 Bz f&ar o & | afq @ g
FifoTa |

Section-11
gus—I1

A mass of 10 kg falls freely a distance of 10 m
from rest and is then brought to rest after
penetrating through 1m in sand. Find the average
thrust force exerted by the sand on it.

Two particles of masses m, and m, are connected
by a light inextensible string which passes over a
smooth fixed pulley. If m, > m, and m, descends
with an acceleration f, show that the mass which
must be taken from it so that it can ascend with

4m,f g
the same acceleration 18 _(f +—H—g)_2 .

10 %l & OF v ffgm | 1097, % g0 W
W w9 A e 8 ol B W 4 1. g
3 9% g § Q@ S 2 39 W W aW
MY T NG TS & Bl S il |

[PTO.



(4) 94428

(@)Wmﬁm@%ﬁmﬁﬁv_‘ﬁﬂﬁﬁm

4 (@
(b)
)

04428

2 2} 2 T o 0% fae R wvE @ oW
q PR 21 AR m, > m, TN m, @TESH A
A Iaear B @ ReEn?d & gemm o s

dm,f g
E@Hﬁ;, (f +g)° gl ‘

A train of Mass M Ibs. is ascending a smooth
incline of 1 in n and when the velocity of the train
is v ft/sec, its acceleration is f ft/sec’. Prove that
the effective horse power of the enging is
Mv (nf + g) |

550ng

A particle 6f mass 'm' falls from rest at a height 'h'
above the ground. Show that the sum of kinetic
and potential energies is constant throughout the

motion. w

ZH M Ibs H T YTl n & 13 Fspor o
T Fedl & SN o9 I@Tel & a7 v .
O @1 f 2. 21 fas @i /& &5 @

g a0 +e) 5,
550 ng

(&)

5. '(a)

(b)

()

()

94428

&30 % 94428

S 'm' B UF P FHH @ h HEAE G
frgmmmeen | frar 2 | Resd % 1 g Refs
Sl F AT T F AR R @ R

Section—I11
gqus—11I

A heavy particle of mass 'm' is made to move on a
smooth curve in a vertical plane. Discuss the
motion.

A particle is projected along the inside of a smooth
fixed sphere, from the lowest point, with a velocity
equal to that due to falling freely down the vertical
diameter of the sphere. Show that the particle will
leave the sphere and afterwards pass vertically over

the point of prog ection at a distance equal to 3

of the diameter.

ZI 'm'® U 9K FHOT F U FHEET adf 5
m%wﬁww%wﬁrﬁhﬁm
|

% F P 0H FH REX 0 & 3T d94
e g & &g e s 8, R 3 a9
3 HEET AW & AE WaA @9 9 e @
Wﬁﬂ%wélﬁ@@ﬁawm@rﬁ

as%wamaﬁﬁaﬂm% %wgﬂw
m%ﬁg%mwm%g@m
[PTO.



(b)

(%)

(6) 94428

A cannon ball has a range R on a horizontal plane.
IfH, H' are the greatest heights and t, t’, the times
of flight in the two possible paths, show that

R=4-\/HH'=%gtt'

A particle is projected in a direction making an
angle 0 thh the horizon. [f it passes through the
points (x,, y,) and (x,, y,) referred to horiz ptal
and vertical axes through the point of projection,

- 2 2
then prove that tan 6= —231_X1 Y2
v X; Xy (%, —%;)
TF A9 B N P B AR a9 W W R 2

I H, H' fpay SHe=ai aart, ¢ 3 g9

T ¥ I F w9 ¥, RewEd

: Rx4~/HH'=%gtt'

94428

T 1 3 BT & W 0B T 7,

e 5 HAf b s 21 AR 98 whe & Ry

A ey A gur SEtew ot 3 Ru wehig
FRgaTt (x, y,) T (x,, y,) ¥ BB Torer &, ar

R TG B tan 0= 22Y1 X 2

X X, (X, —%,)

2. ()

(®)

()

8. (a)

. (b)

(%)

94428

(3 94428
Section—-1V
gus—-IvV
Show that a central orbit is always a plane curve.

A particle moves in a plane under a central force

- which varies inversely as the square of the distance

from the fixed point. Find the orbit.

fCEEd & U $Eg F G929 UF §HIA 9%
2l 2|
UF FH B FEE 99 B A9 UF g o

My Hem e o Rex Fig & gt @ ot @ =0 A
GohH T ¥ Fael © | B S BT |

Prove that the time taken by earth to travel over
half its orbit remote from the sun separated by
minor axis is two days more than half the year; the

1
eccentricity of the orbit being 60"

Find the acceleration of the particle in terms of
cylindrical polar Co-ordinates,

fore ST % geEl 2 @Y e g’ guEd
T ATy A FA A o § o amn
FH H @ g q9G qN B oY § A R

i ¥ w A SHE - B

[PTO.



(8) 94427
@) W% BT P Tedad B GRWNG Hi |
g Rdwaredt @t fEesn Hifm |
Section—V
gug—v

9. (a)

(b)
(c)
(d)
(e)
(®)

(@)

®)

(M)
(%)
(&)
)

94427

What do you mean by linear independent vector ?

Define Rank and nullity of a linear transformation.
Define isomorphism of vector space.

Define non-singular linear transformation. )
Write down Bessel’s inequality.

What is unitary transformation ?

Yo @ gy F Sus 1 axdd § 7

T RaP WU I ¥ QYT AT B TR
T |

qRy gafe 3 THERRES B IRENT ST |
I-uhe s wUiEEer & Rl #T
9T B FEHE H AT |

A WX T 2 7

94427

B.A. 6th Semester (Pass Course) New Scheme

Time allowed : 3 hours ]

Examination, July—2022
MATHEMATICS
Paper-BM-362
Linear Algebra

[ Maximum marks : 27

Note: Attempt any five questions by selecting one

question from each section. Section-V is

(b)

; compulsory.
e gAF G @ T 9T # 9T W g, g G
797 Fforg | @ue-v sfard &1
Section-I
gue—-1
1. (a) A necessary and sufﬁciént condition for a

non-empty subset W of a vector space V (F) tobe
a subspace of V is that W is glosed under addition

and scalar multiplication.

Let V be a vector space of all real valued
continuous functions over R. Show that the set W

94427-P-8-Q-9 (22) [PTO.



()

(2)

of solutions of differential equations

94427

3%}%— %+2y=0 is a subspace of V.

TH THRE V (F) @ % - sueged wa
frT v &t tH Iu-THfte B9 3 foU U STEeTs
q a9 78 & 5 WA qur o e

% Rl &3 B
99 i VR & ST |4l arEias 79 9|

A B F AR qette § 1 qufEd R sl

(b)

94427

S 4y o d
EiCTe i d—y+2y=0 2 =l a5

X

q9eg W, V& 0% Iqehie 2|

Show that if {U, V, W} is a basis of R* (R) then
{U+V,V+W, W+ U} is also a basis set of
R3(R).

. )
If'V is the vector space of all square matrices over

a "=p
Rand W = {I:O c}ia,bER};ﬁndabasis of

V.

()

(®)

<]

(a)

2 (b)
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(3) 94427

zZaitzd B 3 (U, V, W) ;R (R) 1 T ST &
T {U+V,V+WW+U} Rt RR) T &

IR T=A B
it V,R 3 FUX G I oTgEl B wleq T,
: a b
2 qagqr W= {{0 C:\:a,beR}; VW N TH
JMER ST o | ‘

Section—I1

gus—I1

Prove that the function T : V — P, (x), where V is

the vector space of square matrices defined by

g b
T(A)=a+(b+c)x+dx*forA= L d] eV,is

a linear transformation.

Let the transformation T : R® = R? such that

s

T (X)7="AX) where " ®/="1 2 5}.
¥} 3 3

[P.T.O.



(4) 94427
Find (i) the image of X = (2,0, 5)

(ii) the vector whose image is (2, 0, 5).

F) R #PT & &= T: V> P, (x), 5/ V,

(@)
4. (a)
(b)
94427

i
A=L d} e V3 fau
T(A)=a+ (b+c)x +dx? ET TR J7 TRl
# Ry gafte B, uh W TR 2 |
T AT BT T:R? —» R239 TR & & %

#

PO
TEO=AX, 5B A=|1. 2 5
St ol

S @I (1) X =(2,0,5) % &=
(i) TRy fora® &g 2,0,5) 2|

If T:U (F) » V (F) is a linear transformation

then rank T + Nullity T = dim U. "

Find a linear transformation T : R® — R? whose
range Space is spanned by the vectors (1, 2, 3),
(4,5, 6).

(%)

)

¢ ()
(b)

, @
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(5) 94427
IR’ T:UF) - V (F) T s ST ¢ a9
Rank T + Nullity T =dim U
U WS T T: R® — R 51T Fiore Rraat
g ghte @Rt (1, 2, 3), (4, 5, 6) /T B
T B |

Section—III
gus—IIl
If T : R* > R? be a linear operator by

T(Xy,2z)=(x-3y-2z,y—4z z). Show that T is
invertible and find T-".

LetB={U, U,,.....,U_} be abasis of vector space
U (F)and T : U — U be a linear transformation.

Then for any vector
ueU, {T(uw),B]=[T,B][U,B].
IR T:RI > R;

T(x,y,z)=(x—3y—2z,y~,4z,z)§RTQEE%EB
TEd & o quiEgd 6 T SeeTeig ® @ T
A &I |

[PTO.
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@) FF AR B = (U, Uy oy U} A e
UF)H T JER 8 @ T:U—~>UT
g TR 8| 79 el GRe ue U [T

[T (). B]=[T,B][U,B]

(a) IfVisafinite dimensional vector spéce and W be
a subspace of V., then A (A (W))=W.
3 e
(b) Prove that the matrix A= LO 1 is not diagon-

alizable over the field C.
() aﬁquﬁﬁammw%ww
V3 UF SuEEie 2, 7@ AA(W) =W

{ ul
(@)m@aﬁfmﬁm@m[o 1]%5c%w
ﬁ‘cﬁuﬁﬁ“ﬁqﬁ?ﬁ%l

Section—-IV
g1V

(a) If o and P are vectors in an inner product space,

then show that

loa+BP+|a-BF=clolf+alBlf.

94427

() 94427

(b) LetS be asubset of an inner product space V. Then
show that S+ =S4+,

(%) Qﬁawﬁwmﬁmwmﬁaﬁﬂ%
a9 Resa @&

la+BIP+lla-BlP=cle|+alB|P

(@) uF AR S F ST IR qe VT
W@Iﬂaﬂﬁ@ﬁ;slzslll

(a) Using Gram-Schmidt orthogonalization process
construct an orthonormal basis of V, (C), given
the basis u, = (1 + i,1, 1), u, = (2, 1 - 2i, 2 +j),
w=(1-i,0,-7).

(b) Define adjoint of linear transformation. Discuss

its properties.

(®) TH-RHE depriietr g & 3@ K g
V, (C) & T JHM Wi e 9154 |
TR SR
B, = (1 + i, 8,1), w2, 1 -2i, 2 + j),
u, =(1-1,0,-j).

94427 [PTO



